25m? : 2.5a

\VARR 4
0x
L
—

- 10

TS m? 2 B Flof| b Fa] Husofeql 25 2 1ol
Fr}.

1m? = 0.01a ©]tt.

25m? : 2.5a

=25m? © 250m? = (25 +25) : (250 +25) =1:10







125t 712 Zol= A=)

=
4

glo] AL-gsto] hzet Alze) Lol 7}

ojHct ¢

AAZFR ] (FFR)+ (A 2)= 140 + 2 = 70(cm)

ZF2 70 x % = 45(cm)

5
A : _— =
A2 1 70x 7 = 25(cm)

— 45 - 25 = 20(cm)




@ A1 @ 9 Atolo] A= 140km YUl 152 ¢t 21kmE
ga= 7|2} }sm 11A] 2550 @) 9-& Edste] @ ol Z2}ol=
A7 0 FA] DEQIY7F?

o

>
> FE 9% 1458

158 : 21km=| |2 : 140km
21 x[_]=15x140

[ ]=15x140+ 21 = 100(&)
(11A] 252)+(1 A7 408)
= (13X 58)=2F 1A 5&




Yt 22 2= W] =S AREUTE 4 9HIS Sut
o, sl HEo] Seo] Lol @ am A FHHAL

>
> ®g: 1204.8cm

£ S g uhe] 2 20x2x3.14 = 125.6( cm) THE 2201
AUzt B2 bt Zo] Aol gy

_-125.6em. _

o2k 4 vH 2 S o S39] Zol= (125.6 x4 4 100) x 2 =
1204.8( cm) Yt




oo
" B
o K
iy
Y
(EE 2 ~
— | < 7o)
o MM it
bo g o
o ool
7 ° 2
0% ﬂl b \m}
™H ay g 00
plo  fom mwm o_A_u
N i
N I= -
o ﬂm_l o) x
oA = Te S
SRS I =
R g B
up olJ 0 BT o
ﬂ LA.W.O . " " E.E (_\
o or o i ~
<F m_.E ,.UA'I KO M
T =r A A i
o ' H




o
™

op o
™ or
=

o N

oF 5
=

--12cm- - _ _

—

6

\

| 7

169.56 cm®

Mg

>

S

bt e
=2 = 169.56( cm®)

5 Bujo] ghe 7

‘ HA71E

IX3x%x3.14x12 -+




& WUEYS UG FHo2

CEEEEEENEY

jg[x‘
2
_O'l‘,
22
o
£

-5cme

w

>
> ®EeHl 706.5cm?

0.
i}

HEZ]Z0]| 5em ]2, =0]7F 9cm @l 7| 50] HjB2g
(5-3])= (5 x 5 x 3.14) X 9 = 706.5( cm?)




